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1. Read the 3 documents and link the characters to what they are.

Garfield Odie Calvin Hobbes Snoopy el
o o o o o

IPt PON'T PO viP? YEAH,
THAT! THAT

a cartoon
by Jim Davis

Garfield is a fat orange
cat. He loves eating
(particularly lasagnal).
He doesn’t like Odie;
the dog and he hates
walking in the morning!

2. GARFIELD
1. Read the cartoon. Circle right or wrong and justify your answer.
Lis la Bande Dessinée et entoure vrai ou faux et justifie ta réponse.

a. The scene takes place at night. right wrong

b Garﬁ eld lsntalo ne ..................... r[ ght .......... Wmng ............
CGarﬂel d [S hap py ........................ r[ ght .......... Wmng ............
d Od ledrmks CO ffee ....................... r lght ......... Wmng ............

2. Tick the correct answer.

It's funny because Odie barksand 1 Garfield spills his coffee.
[ Garfield drinks his coffee.
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Calvin and Hobbes

a cartoon by Bill Watterson

Calvin is a six-year-old boy. Hobbes is his toy tiger’,
but Calvin thinks he's areal tiger!

' tigre en peluche
2 croire

3. CALVIN AND HOBBES

Look at the cartoon. Cross out the wrong sentences and justify your answers.

a. CaWome. ....Calyin. and.. Hobbes are. in & tent.................c.co.co........

b. IS the afternoon. .....ooiive e

c.Theysleptverywell. ...

d. Calvinhas gotabaseball bat. .......... oo e .

e.Theyreafraid. ... e,

Peanuts

a cartoon by Schulz

Charlie Brown is a little boy. He's got a dog, Snoopy.
Snoopy can't talk, but he thinks. He likes sleeping, eating and watching
television! He likes his doghouse too!

SO0D NISHT,

DONT STa UP TOO LATE

WATCHING TELEVISICON

4. PEANUTS

Read the cartoon. Circle right or wrong and justify your answer.
a. It's time to go to bed. right wrong

b. Snoopy can stay up late. right wrong

c. Snoopy goes to bed. right wrong

d. Snoopy loves watching TV! right wrong



